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Question No. 1 is compulsory.

Answer any five questions from Question Nos. 2 to 8.

{
a'(a) What are the problems caused due to data redundancy ? 4

(b)  Explain any swo functions of DBMS. 4

(c) L Give full form of the following ": 2
(d  sqL
@) pMmL,

Q . ET.O,




C 2 2 ( 5 ) 1994
5. Consider the following relations Rl and R2 : Give the result of the following operations -
Roll No. Name _ @ I'1 PRODUCT R2
10! BBk (i) Rl UNION R2
- S 1 :
1002 e (i) R1 INTERSECTION R2
2001 Vivek . - 2
(") SELECT Roll No. greater than 1005 From RI
2002 Ruchika
(v) Rl DIFFERENCE R2
R1 .
0. (@) Explain the different data anomalies in a database with
Roll No. Name exariple. 6
1004 Amit . (b)  Differentiate between primary key and secondary key
1005 Suraj in a relation with example, 4
2002 Ruchika 7. (@)  Explain any nvo advantages of DBMS. 4
1001 Ankit : () Explain different types of relationships that exist in a
- database model. 6
P.T.O:
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Network Data Model

Connectivity and Cardinality

Relational set operator JOIN g

Data Dictionary and System Catalog

Third Normal Form.
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()

(a)

i
|
class [a], has a multiplicative inverse in Z, if and only
;.
!

if (@, n) = 1. o

( 4.) 2002
Find the rational roots of the equation : 62 :
»
x4 x3 — 19x% + 49x — 30 = 0.
Solve the equation : :
.
4
27x3 + 42x* — 28x - 8 =0,
*
the roots being in G.P. 6% |
If o, B, Y, be the roots of the equation : 6%
x3+px2+qx+r=0,(r¢0), ;
find the value of : ’ i
*
0 B+ e gt ae » | '
Gy et ' .
Let n be a positive integer. Prove that the congruence

2002

()  Consider the following permutations in S, 6%

. Compute the following products :

(n ot

TZO’.

()
(e)

Prove & iti
hat the set Q* of all positive rational numbers is

an abelian group under the binary .operation * defined

by a-* p = a_.
3 6l
(@) LetG= GL,(R). Prove that : -
a 0
D= , ad #0
0 d
is a subgroup of G.
6

"P.T.O.
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(d) How are entities and attributes represented in E
model ?

(e)  Differentiate between Single-Valued and' Multi-Value
attributes with examples.

(/  Explain the Integrity Rules to” design a database.

. - o ' 4,

(8 What is partial dependency ? Explain with a suitabl
example.

()  Explain Foreign key in a relation.

What are the components of a database system ? 10

A college maintains data about. the following entities : 10

()

(if)

74

, (4
Courses : including number, title, credits, syllabus, and

prerequisites; '

Courses offered : including course number, year,
semester, section number, instructor(s), timings, and

classroom;

@03k ) 1994
including student-id, name, and program;

(iif) ~ Students :

(iv) Instructors : including id_number, name, department and

title.
Construct an E-R diagram for the same.

Consider the following schema and write SQL for the

following :
Student (RoI!Np, Name, Age, Sex, City)
Student_marks (RollNo, Marksl, Marks2, Marks3)

() To create the given tables and declare primary keys

and foreign keys. 4
(i)  Display student details grouped by their city. 2

(#ii)  Display name of students who got -more than 75 marks

in Marks-1. . . 2

(v)  Delete the table Student_marks. 2

P.T.O.
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Let V be a vector space with operators @ and O . Let

W be a non-empty subset of V. Prove that W is a subspace

of V if and only if the following conditions hold :

« If u, v are vectors in W, then u @ v is in W

@

If ¢ is any real number and u is any vector in W,
6

(i)
then ¢ © u is in W.

Define basis of a vector space V. Check whether the set

{(3, 2N, =12, 1,0 % 0)} forms basis for R3? 6
Reduce the matrix :
1 3 6 1
1 4 5 1
|EE 4 3
form and hence détermine its rank. 6%

to its normal

Verify that the matrix :

satisfies its characteristic equation and hence obtain

AL 6%

()
i
3 (a)
o
h
|
[ .
p ®)
‘ ()

e 2002
Solve the system of linear equations : 6%
2
x - y+z=-
2x +y — 4z = -]
6x — Ty + 8z = 7.
If
coso. + 2cosf +-3cosy = 0 = sinat + 2sinf + 3siny
prove that :
cos3a +8cos3f3 + 27cos3y = 18cos(ct + B + ¥)
sin3c + 8sin3P + 27sin3y = 18sin(ct + B + ) 6
Prove that :
. 6
i 5p < 31an8 — 10tan*6 + tan’ 6
-~ 1-10@an’0 + tan*0
Sum the series :
cosBsin® + cos?0sin20 + ... + cos"Bsinn0
where 0 # kn.
! 6
P.T.O;
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but the same medium should be used throughout the
paper. ‘
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Attempt any four questions.

3 " All questions “carry equal marks.
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Instructions for Candidates

! 1.  Write your Roll No. on the top immediately on receipt of
' this question paper.

| 2. Attempt any Five questions.
All questions carry equal marks.

f 4. Answers may be written either in English or Hindi; but the
\ same medium should be used throughout the paper.
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n the nain features of Gupta administrationg| 7.

1. Write an essay 0

Wwﬁﬂwﬁmﬁﬂwﬁﬁfﬂw‘

2. Discuss the social and economic conditions of the Gupta

period.

e @ o R e A

3. Describe the extent and administration of Harsha’s empir,

= @ T & RER @ T w6 U oY |
4. Examine the ne
economy during the post-Gupta period.

mmaﬁmﬁawwﬁﬁaﬂﬁmﬁﬁ
w1 qqe HIRR |

6. Write an essay on Tri-partite struggle.

R g W v Py R

8617 3

Bring out the main features of Chola administration with

special reference to Nadu.

g & fEv gt ¥ S v ® owa SR W v
T |

Discuss the various theories related to the origin of
Rajputs.
IO S I ¥ Tt R fera o et ke

Analyse the political, social and cultural impact of the Arab

conquest of Sind.

Ry s At oo & aomfae, awfsrs ve Wi T @
oo i |

Write short notes on any two of the following :

(a) Samudragupta

(b) Land grants

(c) Puranas

(d) Chalukyas

Pl
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Attempt any two parts from each question.

/ 1. (@)  Prove that the set V of all ordered triples of real numbers

’ ~ ofthe form (x, y, 0) under the operations @ and © defined

?# by :

G 0) @, 3, 0) = (x + x5 iy + y, 0)
| c O (x,y 0 =(x c,0) Sk

forms a vector space over R. : 6

P.T.O.




e [

(4 ) 8647 _ ‘ This question paper contains 3 printed pages]
' L ’ ‘ Roll No.
frefofen & & fodl @ W dfw feod fafeg o oA
: ‘ ' ‘ S.No. of Question Paper : 8648
‘ ‘ Unique Paper Code T 62321201 GC
(%) TAEFGT F AER _ 4
o ' Name of the Paper ¢ Indian Government and Politics
(@) SHfed Afehl _ Name of the Course + B.A. (Prog.) Political Science
‘ o ; ‘ Fertaret Semester L
(M) e TS oAH F S w1 M o
: ' Duration : 3 Hours Maximum Marks: 75
SEIRIE

(Write your Roll No. on the top immediately on receipt of this question paper.)

] _ ‘ R .
(9) vdE gfaum & g | (78 wA-w ﬁmawmwﬁmmwmwm.)

e ———

Note :—  Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.
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All questions carry equal marks.
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| ¢ Discuss the various approaches to the study of the nature
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éritkica.!l‘y discusé-the Marxist appreach to the 'stu,dy of ‘nature |-

of the Indian state. - B o

0y R
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: “lndla ls a qua51-Federal State = Comment e,
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fIndla ; A . : #

w%wﬂaﬁt@m vrﬁaqaa?rﬁfﬁﬁaiﬁr

Eﬁ'ﬁﬂ‘{—l"'r" L : : ' I3

- ; A
I

Dlscuss the |mpact ‘of caste system on lndlan Polity.
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. Crificaliy analyse the concept of _secul_a_risrn in Indian Politic’i 3

e e 3 s g 1 et T
Hifse | | 7

|

: DiScuss the role;, power and functions of the Prime Minister .

3 Fprgr 8647
Examine Rajni Kothari’s ;héractei’izaiion‘ of the party-system in
India as “Congress system”. Discuss the reaéoné for the decline

of the Cdngress systefn.
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‘ Discuss the factors’ Iéading to :agrérianv crisis ‘in ‘lndiﬁ.- :

HIfT |

Write short notes on dny fwo 7of the .follo.wing 3

. (a)g_ Right to Equality

() Public Interest Litigation. (PIL)
(¢) Gandhian Approach to study the nature of ihdian State

(d) . Preamble of the Indian Constitution

PT.Q.
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NoTE:— Answers may be written either in English or in
Hindi but the same medium should be used
throughout the paper.
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Answer all five questions.
All questions carry equal marks.

g4t uiw 5y & 3 ST
gt gv & o7F T &

1. Define Social Psychology. Describe the levels of social
' behaviour citing relevant examples.
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Critically examine-the‘basic structure docl.rine of the Indian
Constitution. |
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Discuss the role, power and functions of the President of
India.
m%maﬁmﬁmwﬁﬂﬁmﬁm
HIfST |

Critically examine the role of n-ew middle class in democratic
politics of India.

o ® A et § e wem o
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Write an éssay on secularism in India.

g # wdfdww w ey fafen)

Write an essay on the evolution éf the party system in India.
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7.
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Critically analyze the role of women in Indian National

Movement.

WA A e # afeenst w gqfww w
S qeiE '
Write short notes on any two of the following :

(H  Judicial Activism

(i) NITI Aayog

(i) Right to Freedom

(v)  Article 356.
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Or (3499
How has the discipline of social psychology developed
in the Indian context?

 mmﬁmqﬁﬁwH$Tmﬁh?ﬁﬁﬁfﬁﬂuﬁmrﬁm

g2 15

. Explain Kelly’s theory of attribution. What are the

potential sources of biases and errors in the process of
attribution.

helt @ TPRIUR@ & fagid F O faeRor wifeg )
ORISR 1 feHar # - qfeal a8, gy |
5,10

Or (3794)

Explain in detail the concept of attitudes. How does
the cognitive approach explain attitude change?

mgfmal w8 fawr ¥ fog=w sifso) d@9m
s f5e weR FHgiE & qieds a8, smen
IS | . : Tz T

. Interpersonal attraction is influenced by various

factors. Explain.

siadafes anHdu @ A9 FRE TAfEd & @ |
HHHART | ‘ 15
Or (3ed)

Elucidate the external and internal factors of helping
behaviour. '

3 8625
gaefs oqaer ¥ oTiaiis I ael HReh
it | ' 15

. Explain the benefits and costs of joining groups. Citing

relevant examples discuss the pitfalls of group decision

making.

E F CEd % A g THEEH H avA R

3faq SeRwN = wWewdr & uyE fwiw = ffedt =

Iooi@ Hifeg | 510
Or (2149d0)

Explain the process of cooperation and conflict in
groups. Suggest techniques of reducing group conflict.

wE § WEAnr K g5 F 9 wI GHHET | W
g% & ®A 1 i fafgal & gge e 7112, 7172

. Attempt any two of the following:

(a) Scope of social psychology

(b) Strategies to resist attitude change

(c) Personality and aggression

(d) Basic features of groups.
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